$$\frac{\log \alpha y_n}{1} \cdot \frac{dz}{x^2 + x - 2}$$

$$\chi^{2} + \chi^{-2} = (\chi - 1)(\chi + 2)$$

control variables of x = 1 of $x = \infty$

$$\int_{0}^{\infty} k_{0} + k_{0} \cdot (=) \int_{0}^{1} k_{0} + k_{0} \cdot n \int_{1}^{2} (4 + k_{0} \cdot n) + k_{0} \cdot n \int_{2}^{\infty} k_{0} + k_{0} \cdot n \int_{1}^{\infty} k_$$

I herrit - primures (Hofino granemality a lugaro ge as 7 lim)

I Haruf - womoty kpetrepu Jre

 $\int_{0}^{1} \frac{dx}{x-1} \quad \text{gribe pt.} \quad \tilde{p} \quad \int_{0}^{1-\xi} \frac{dx}{2-1} = \ln(1-x) \Big|_{x=0}^{1-\xi} = \ln \xi - \ln 1 \xrightarrow{\xi \to 0} -\infty$ $\left(= \int_{0}^{\infty} \frac{dt}{t} \quad \text{grib.} \quad y \quad \forall j \in \mathbb{N} \right)$

$$=$$
) $\int_{0}^{\infty} \frac{dx}{x^{2}+x-2}$ que que .

donottu: le m nort. $\int_{1}^{2} \frac{dz}{x^{2}+x-z} = \int_{2}^{\infty} \frac{dx}{x^{2}+z-z}$? Ges purabaisse.

(2.)
$$\int_{0}^{a} \frac{x^{2}}{x^{4} + x^{2} + 1} dx$$
, jegum chú. ji $x = \infty$

$$\frac{\chi^2}{\chi^4 + \chi^2 + 1} \sim \chi^{-2} \qquad \chi \rightarrow \infty$$

a
$$\int_{1}^{\infty} x^{-2} dz$$
 korb. =) $\int_{0}^{\infty} \frac{x^{2}}{x^{4} + x^{2} + 1} dz$

Konustavey. $\int_{0}^{\infty} x^{-2} dx$ qub., $\int_{0}^{\infty} \frac{x^{2}}{x^{4} + x^{2} + 1} dx$ (iii) $\int_{0}^{\infty} \frac{x^{2}}{x^{4} + x^{2} + 1} dx$

(3.)
$$\int_{1}^{\infty} \frac{dx}{\sqrt{1+x^{3}}} \qquad \text{consignormation} \qquad x = \infty$$

$$\frac{1}{\sqrt{1+x^3}} \sim \chi^{-3/2} \qquad \chi \to \infty$$

$$\int_{1}^{\infty} x^{-3/2} dx \quad \text{koyl}. \quad \left(-\frac{3}{2} < -1\right) = \int_{1}^{\infty} \frac{dx}{\sqrt{1+x^3}} dx \quad \text{loggl}.$$

(9.)
$$\int_{0}^{1} \frac{\ln x}{1-x^{2}} dx \qquad \text{curry rapuse} \quad x=0 \quad x=1$$

$$\int_{0}^{||\chi|} \frac{\ln \chi}{1-\chi^{2}} d\chi \qquad \frac{\ln \chi}{1-\chi^{2}} \sim \ln \chi \qquad \chi \to 0$$

$$\int_{0}^{1/2} \ln x \, dx \quad \text{koHb.} \quad (\text{populu uno}) =) \int_{0}^{1/2} \frac{\ln x}{1-x^{2}} \, dx$$

$$\int_{1/2}^{1} \frac{\ln x}{1-x^2} dx \qquad \frac{\ln x}{1-x^2} \wedge \frac{-1}{2} / 3c \rightarrow 1$$

$$\frac{\ln x}{1-x^{2}} = \frac{x_{-1} + 6(x_{-1})}{(1-x)(1+2)} = \frac{-1 + 6(x_{-1})}{2+1} - \frac{1}{2}$$

$$\int_{1/2}^{1} \frac{-1}{2} dx \quad |\cos \theta| = \int_{1/2}^{1} \frac{\ln x}{1-x^{2}} dx = 0$$

Handreys. Aus f tryi grø. y BER am Flotterest lim f(2) 2+3-)

Offa ce & 3 sobre OTICNOTURE (MPUBULAH) custiyaspuitent

Obge ce recloi coleum, gogiopier centre o je f y 3, choque se Puriorol.

$$\frac{andy(ax)}{x^p} \sim \frac{ax}{x^p} = ax^{1-p}, x_{1-p} > 0$$

$$\int_{0}^{1} q x^{1-p} dx$$

$$\int_{0}^{1} q x^{1-p} dx \qquad ko+b. \ (=) \qquad a=0 \quad p \in \mathbb{R}$$

$$\lim_{(=)} a \neq 0 \quad p \neq 2$$

$$\int_{-\infty}^{\infty} \frac{\operatorname{arcty}(ax)}{x P} dx$$

$$\int_{-\infty}^{\infty} \frac{\operatorname{andy}(ax)}{x^{p}} dx \qquad \frac{\operatorname{andy}(ax)}{x^{p}} \sim \frac{\operatorname{sgn} a \cdot \frac{\overline{1}}{2}}{x^{p}}, \quad x \longrightarrow +\infty$$

$$\int_{1}^{\infty} x^{-p} dx$$
 (c) $\int_{1}^{\infty} x^{-p} dx$ (c) $\int_{1}^{\infty} x^{-p} dx$ (d) $\int_{1}^{\infty} x^{-p} dx$ (e) $\int_{1}^{\infty} x^{-p} dx$

$$\alpha = 0 \Rightarrow \int_{1}^{\infty} \frac{\operatorname{and}g(\alpha z)}{\alpha p} |\omega p|.$$

3 and
$$\int_{0}^{\infty} \frac{\operatorname{and} f(\alpha x)}{x^{p}} dx$$
 (corb. (=) $\alpha = 0$ un $\alpha \neq 0$ u $p \in (1,2)$

6.
$$\int_0^2 \frac{dx}{dux}$$

Lometin.

$$x = 0$$
 (outuro Hubu)
 $x = 1$ (getec cus outp. ln $x = y$ outrush $x = 1$)

Trump.
$$\int_{2}^{\infty} \frac{dx}{x^{p} \ln^{2}x}$$

Lovezauen.

$$\int \frac{1}{x^{pers}c} \leq \frac{1}{x^{2}}, \quad 3a \quad x \geq M$$

$$\int_{2}^{\infty} \frac{dx}{x^{2}} = \int_{2}^{\infty} x^{-\alpha} dx \quad (\text{cohb. } j p j - \alpha < -1)$$

$$\frac{1}{x^{2} \ln^{2} x} = \frac{1}{x^{2}} \ln^{2} x$$

$$= \frac{1}{x^{2} \ln^{2} x}$$

$$\frac{1}{x^{p} m^{2} x} \Rightarrow \frac{1}{x^{n}} , x \Rightarrow M \text{ sip}$$

$$\frac{1}{x^{p} m^{2} x} \Rightarrow \frac{1}{x^{n}} , x \Rightarrow M \text{ sip}$$

$$\frac{1}{x^{p} m^{2} x} = \frac{x^{n} + y^{n}}{m^{n} x^{n}} \Rightarrow M$$

$$\int_{2}^{\infty} \frac{1}{x^{n}} dx dx \text{ qub. } \hat{x} \hat{p} \hat{r} - d > -1 \quad (d < 1)$$

$$\int_{2}^{\infty} \frac{dx}{x} = \begin{cases} t = \ln x \\ \frac{dx}{x} = dt \end{cases} = \begin{cases} \frac{dt}{t^2} \\ \ln x \end{cases}$$

$$= \int_{1}^{\infty} \frac{dx}{x} = dt$$

$$= \int_{1}^{\infty} \frac{dx}{x} = \frac{dx}{x} = \frac{dx}{x} = \frac{dx}{t^2}$$

$$= \int_{1}^{\infty} \frac{dx}{x} = \frac{dx}{t^2} = \frac{dx}{t^2}$$

3 AKNOJYAU.
$$\int_{-\infty}^{\infty} \frac{dx}{x^{p} \ln^{q}x}$$
 (co) $p > 1$ une $p = 1, 2 > 1$

Auconjulya kotheguetyja usure grana

get. Here ji f get. He [9,3) u Hejemyre. Kemens ge $\int_{\alpha}^{3} f(z) dx$ autonymus koth. and $\int_{\alpha}^{3} |f(x)| dx$ kotherpryse.

The state. And I find a cuconyurus worth. orga of korthepippe.

Baganak,
$$\int_0^\infty \frac{8hx}{x^{3/2}} dx$$

 $\alpha = 0$ $\alpha = 0$

$$\int_{0}^{1} \frac{\sin x}{x^{3/2}} dx \qquad \int_{0}^{1} \frac{\sin x}{x^{3/2}} \sim \frac{2c}{x^{3/2}} = x^{-1/2} \propto \to 0$$

$$\int_{0}^{1} x^{-1/2} dx \qquad \text{lightless}, \quad \bar{\chi}p = -1/2 > -1$$

 $\int_{1}^{\infty} \frac{8 \ln x}{x^{3/2}} dx \quad \text{anconjulyo} \quad \text{lath.} =) \quad \text{latherpaye}$

 $\left|\frac{\sin x}{x^{3/2}}\right| \leq \frac{1}{x^{3/2}} \quad |\int_{1}^{\infty} \frac{dx}{x^{3/2}} \quad |\cosh x| \left(-\frac{3}{2} \times -1\right)$ $= \int_{1}^{\infty} \left|\frac{\sin x}{x^{3/2}}\right| dx \quad |\cosh x| dx$

OJNEPOBU UHTERPANY

$$B(\alpha, 3) := \int_{0}^{1} x^{2-1}(1-x)^{3-1} dx \qquad \text{ Ferrior by the uprior }$$

$$\Gamma(\alpha) := \int_{0}^{\infty} x^{2-1} e^{-x} dx \qquad \text{ Tame by the uprior }$$

$$\Gamma(\alpha) := \int_{0}^{\infty} x^{2-1} e^{-x} dx \qquad \text{ Tame by the uprior }$$

$$\Gamma(\alpha) := \int_{0}^{\infty} x^{2-1} e^{-x} dx \qquad \text{ Tame by the uprior }$$

Clasjanda P-pi

1. done ? Bu woj $x \in \mathbb{R}$ j f(x) get. uy. 2a woj x $\int_{0}^{\infty} x^{x-1} e^{-x} dx \quad \text{koth epiyo}?$

$$x^{x-1}e^{-x} \sim x^{x-1}, x \rightarrow 0$$

$$\int_{0}^{1} x^{x-1} dx \quad \text{whl.} (=) \quad x \rightarrow 0$$

$$(=) \quad x \rightarrow 0$$

$$\int_{1}^{\infty} |x + x| dx = -2e^{-x/2} = 0$$

$$\int_{1}^{\infty} |x + x| dx = -2e^{-x/2} = 0$$

$$\int_{1}^{\infty} |x + x| dx = -2e^{-x/2} = 0$$

$$\int_{1}^{\infty} |x + x| dx = -2e^{-x/2} = 0$$

3AKNYYAK. $D_r = (0, \infty)$

2.
$$d > 0$$
 $\Gamma(d+1) = \int_{0}^{\infty} x^{d} e^{-x} dx = \begin{cases} x^{d} = u \\ e^{-x} dx = dv \end{cases} = \begin{cases} u = x^{d-1} dv \end{cases}$

$$\nabla = -e^{-x}$$

$$=-x^{\alpha}e^{-x} \int_{0}^{\infty} + \lambda \int_{0}^{\infty} x^{\alpha-1}e^{-x} dx = 0 - 0 + \lambda \Gamma(\lambda)$$

$$3\sqrt{n} e^{-x} \qquad 2\sqrt{n} x^{\alpha} (\lambda > 0)$$

Mare je [1]? Mare je [m), neN?

$$\int_{0}^{\infty} (1) = \int_{0}^{\infty} e^{-x} dx = -e^{-x} \int_{0}^{\infty} = 0 + 1 = 1$$

$$\Gamma(n) = \Gamma(n-1+1) = (m-1) \Gamma(n-1) = (m-1)(m-2) \Gamma(m-2) = ... = (m-1)$$

P φ-i à mouyuse He (0,00) φ-je paraspyin.

(3.) ϕ opmyna Aonyae: $de(o_{11}) = 1$ $\Gamma(\alpha)\Gamma(1-\alpha) = \frac{\pi}{\sin \pi \alpha}$ Bes Aokasa

Trump.
$$\Gamma(1/2) \cdot \Gamma(1/2) = \frac{J_1}{8MT/2} = J_1 = J_2 \Gamma(1/2) = J_3$$

Tyacousto. Whate par
$$\int_{0}^{\infty} e^{-x^{2}} dx = \begin{cases} \text{cmeta} \quad x^{2} = t \\ \frac{x}{t} = t \\ \frac{x}{t} = t \end{cases}$$

$$= \frac{1}{2} \int_{0}^{\infty} \frac{1}{1+} e^{-t} dt = \frac{1}{2} \int_{0}^{\infty} t^{1/2-1} e^{-t} dt = \frac{1}{2} \Gamma(\frac{1}{2}) = \sqrt{\frac{\pi}{2}}$$

$$\int_{-\infty}^{\infty} e^{-x^2} dx = \int_{-\infty}^{\infty} e^{-x^2} dx + \int_{0}^{\infty} e^{-x^2} dx - 2 \int_{0}^{\infty} e^{-x^2} dx = \sqrt{\pi}$$

4.) P \(\psi \) ja \(\tau \) Hett peung He \(\mathred \) \(\omega \) godepengn jouhnnie \(\tau \) \\
\tau \) \(\psi \) ja \(\tau \) \(\tau \) \\
\tau \) \(\tau \) \(\tau \) \(\tau \) \\
\tau \) \(\tau \) \(\tau \) \(\tau \) \\
\tau \) \(\tau \) \(\tau \) \(\tau \) \(\tau \) \\
\tau \) \(\

Cleojanda B-pji

(1.) Loney? 3a maja
$$x, 3 \in \mathbb{R}$$
 1046. $\int_{0}^{1} x^{2-1} (1-2)^{3-1} dx$?

x = 0 x = 1 y x = 1 y y = 1

$$x \to 0$$
 $x^{d-1} (1-x)^{3-1} \sim x^{d-1}$, $\int_{0}^{1/2} x^{d-1} dx$ [with (=) $d > 0$]

$$x \to 1$$
 $x \to 1$ $x \to$

$$\int_{1/2}^{1} (1-x)^{3+} dx = \begin{cases} t = 1-x \\ dt = -dx \end{cases} = -\int_{1/2}^{0} t^{3-1} dt = \int_{0}^{1/2} t^{3-1} dt$$
1/2

B(d,8) j geb. 3a 2>0,3>0

2.
$$B(x,3) = B(3,1)$$

$$\int_{0}^{1} x^{2+1}(1-x)^{3-1} dx = \begin{cases} t = 1-x \\ dx = -1t \\ \frac{x}{t+1} = 0 \end{cases} = -\int_{0}^{1} (1-t)^{2-1} t^{3-1} dt$$

$$= B(3,2)$$

3.
$$B(x+1,3) = \int_{0}^{1} x^{x} (1-x)^{3-1} dx = \begin{cases} x^{x} = u \\ (1-x)^{3-1} dx = dv \\ du = dx^{x-1} dx \end{cases}$$

$$= -\frac{x^{2}(1-x)^{3}}{3} + \frac{4}{3} \int_{0}^{1} x^{2} (1-x)^{3-1} (1-x) dx$$

$$(1-x)^{3}$$

$$= -(0-0) + \frac{4}{3} \left\{ \int_{0}^{1} x^{2-1} (1-x)^{3-1} dx - \int_{0}^{1} x^{2} (1-x)^{3-1} dx \right\}$$

$$B(\lambda+1,3) = \frac{2}{3}(B(2,3) - B(2+1,3))$$
 /.3

$$\beta(d+1,3) = \frac{d}{d+3}\beta(d,3)$$

$$B(\alpha, 3+1) = B(3+1, \alpha) = \frac{3}{\alpha+3} B(3, \alpha) = \frac{3}{\alpha+3} B(\alpha, 3)$$

20 noten. a) Heten
$$B(1,1)$$
 (=1)
 S) Heten $B(m,n)$, 3a $m,n \in \mathbb{N}$

4.
$$y \int_{0}^{1} x^{d-1} (1-x)^{d-1} dx$$
 Houpabuno concey $x = \frac{t}{1+t}$

$$d = d \left(\frac{1+t-1}{1+t} \right) = d \left(1 - \frac{1}{1+t} \right) = \frac{1}{(1+t)^2}$$

$$x(1+t)=t , t(x-1)=-x$$

$$t = \frac{x}{1-x} \quad | \quad \frac{x \mid 0 \mid 1}{t \mid 0 \mid \infty}$$

$$\int_{0}^{1} x^{x-1} (1-x)^{3-1} dx = \int_{0}^{\infty} \frac{t^{x-1}}{(1+t)^{x-1}} \left(1 - \frac{t}{1+t}\right)^{3-1} \frac{dt}{(1+t)^{2}} =$$

$$= \int_{0}^{\infty} \frac{t^{\lambda-1} \left(1+t-t\right)^{3-1}}{\left(1+t\right)^{\alpha}+3} dt$$

$$=) \quad \mathbb{B}(\alpha,3) = \int_{0}^{\infty} \frac{t^{\alpha-1}}{(1+t)^{\alpha+3}} dt$$

$$\beta(\lambda,3) = \frac{\Gamma(\lambda)\Gamma(\beta)}{\Gamma(\lambda+3)}$$
 Se3 game 3a

Japayn.

1. $\int_{0}^{\pi/2} \sin^{4}x \cos^{3}x dx$, 3a moj \times \times $\int_{0}^{\pi/2} (\cos^{4}x) dx$.

Usnezum Welm B & j

$$x = 0$$
 $y = \pi/2$

$$\chi \sim 0$$
 Six $\chi \cos^3 \chi \wedge \chi^2$, with (=) $\chi > -1$

TPHK.
$$8in^2x = t$$
, $cos^2x = 1-t$ $x = 0$ $\pi/2$ $2 sh x cos x = dt$ $t = 0$

$$\int_{0}^{\pi/2} \sin^{2}x \cos^{3}x dx = \frac{1}{2} \int_{0}^{\pi/2} \sin^{2}x \cos^{3}x dx = \frac{1}{2} \int_{0}^{1} t^{2} dt = \frac{1}{2} \int_{0}^{1} t^{2} \left(1-t\right)^{\frac{3-1}{2}} dt = \frac{1}{2} \int_{0}^{1} t^{2} dt = \frac{1}{2} \int_{$$

Jonatin . Halm $\int_{0}^{\pi} \sin^{2}x \cos^{n}x \, dx$, $\int_{0}^{\pi} \sin^{n}x \, dx$, $\int_{0}^{\pi} \sin^{n}x$

$$(2n)$$
 | | = 2n. $(2n-2)(2n-4) - - \cdot 2$
 $(2n+1)$ | = $(2n+1)(2n-1)(2n-3) - - \cdot 5 \cdot 3$

3.)
$$\int_{0}^{\infty} \frac{x^{m-1}}{1+x^{m}} dx, \quad 0 < m < n \in \mathbb{N}$$

$$\left(B(x,3) = \int_{0}^{\infty} \frac{t^{\alpha-1}}{(1+t)^{\alpha+3}} dt \right)$$

chese: $x^n = t$ $x = t^{1/n}$ $dx = \frac{1}{n} t^{1/h-1} dt$

$$\int_{0}^{\infty} \frac{x^{m_{1}}}{1+x^{n}} dx = \int_{0}^{\infty} \int_{0}^{\infty} \frac{t^{m_{1}}}{1+t} t^{n-1} dt =$$

$$=\frac{1}{m}\int_{0}^{\infty}\frac{t^{\frac{m}{n}-1}}{1+t} dt \qquad \frac{m}{n}-1=\kappa-1$$

$$d+3=1$$

$$d = \frac{m}{n} \qquad \beta = 1 - \frac{m}{n}$$

$$=\frac{1}{n}\beta\left(\frac{m}{n},1-\frac{m}{n}\right)=\frac{1}{n}\frac{\Gamma\left(\frac{m}{n}\right)\Gamma\left(1-\frac{m}{n}\right)}{\Gamma\left(\frac{m}{n}+1-\frac{m}{n}\right)}=\frac{1}{n}\frac{JJ}{Sim\frac{mJJ}{n}}=\frac{JJ}{nSim\frac{mJJ}{n}}$$

$$\Gamma(\alpha)\Gamma(\alpha-\alpha) = \frac{T}{\sin T\alpha}$$

20 motur :

$$(7) \int_{0}^{1} x^{2} \left(\ln \frac{1}{x} \right)^{3} dx$$

(F.)
$$\int_{0}^{T} \sin^{4}x \cos^{6}x dx$$
 (upo famu upo ko B ϕji)

(6)
$$\int_{0}^{q} x^{2} \sqrt{q^{2}-x^{2}} dx, \quad a > 0$$

$$(7.) \int_{0}^{\infty} \frac{dx}{1+x^{3}}$$

PEROBN

$$a_{N} \in \mathbb{R}$$
, $h = 0, 1, ...$

$$S_{N} = \sum_{n=1}^{N} a_{n} = a_{1} + a_{2} + ... + a_{N}$$

$$1, 2, ...$$

Hu3 hapyrjantux cyana

Tuyeno:
$$\sum_{n=1}^{\infty} a_n = \lim_{N \to \infty} S_N$$
.

Trump.
$$a_n = g^n$$
 so wife g work. $\sum_{n=0}^{\infty} a_n$

$$S_{N} = 1 + 2 + \dots + 2^{N} = \begin{cases} \frac{1 - 2^{N+1}}{1 - 2} & , & 2 \neq 1 \\ N + 1 & , & 2 = 1 \end{cases}$$

Kag Wall. y R?

$$g \neq 1$$
 SN 100Hb. (=) g^{N+1} 100Hb. <=> $121 < 1$ -1 < $g < 1$

g = 1 SN guberture.

3 agargn. 20. m (co+leptupe pre ∑ an?

$$(1.) q_m = \ell_n (1 + \frac{1}{n})$$

$$S_{N} = \sum_{n=1}^{N} \ln (1 + \frac{1}{n}) = \sum_{n=1}^{N} \ln \frac{1 + n}{n} = \sum_{n=1}^{N} \left[\ln (1 + n) - \ln n \right]$$

$$= (\ln 2 - \ln 1) + (\ln 3 - \ln 2) + (\ln 4 - \ln 3) + \dots + (\ln N - \ln N - 1) + (\ln (N + 1) - \ln N)$$

$$= \ln (N + 1) \xrightarrow{N \to \infty} \infty = \int \text{grubept}.$$

2.
$$a_n = \frac{1}{n(n+1)} = \frac{n+1-n}{n(n+1)} = \frac{1}{n} - \frac{1}{n+1}$$

$$S_{N} = \sum_{N=1}^{N} \left(\frac{1}{n} - \frac{1}{n+1} \right) = \left(1 - \frac{1}{2} \right) + \left(\frac{1}{2} - \frac{1}{3} \right) + \dots + \left(\frac{1}{N-1} - \frac{1}{N} \right) + \left(\frac{1}{N} - \frac{1}{N+1} \right)$$

$$= 1 - \frac{1}{N+1} \xrightarrow{N \to \infty} 1$$

$$\sum_{n=1}^{\infty} \frac{1}{n(n+1)} = 1$$